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1. (i) There is a group of five persons-A, B, C, D

and E.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qzKy9CY3QQd7

(ii) One of them is a horticulturist, one is a
physicist, one is a journalist, one is an
industrialist and one is an advocate.

(iii) Three of them-A, C and advocate prefer tea
to coffee and two of them-B and the
journalist prefer coffee to tea.

(iv) The industrialist and D and A are friends to
one another but two of these prefer coffee to
tea.

(v) The horticulturist is C's brother.

Who is a horticulturist?

A A


https://dl.doubtnut.com/l/_qzKy9CY3QQd7

B.B

C.C

D.D

Answer: A

o View Text Solution

2. (i) There is a group of five persons-A, B, C, D
and E.
(i) One of them is a horticulturist, one is a

physicist, one is a journalist, one is an


https://dl.doubtnut.com/l/_qzKy9CY3QQd7
https://dl.doubtnut.com/l/_1zSSEVF1UCYO

industrialist and one is an advocate.

(iii) Three of them-A, C and advocate prefer tea
to coffee and two of them-B and the
journalist prefer coffee to tea.

(iv) The industrialist and D and A are friends to
one another but two of these prefer coffee to
tea.

(v) The horticulturist is C's brother.

Who is an industrialist?

A E

B.C

C.B


https://dl.doubtnut.com/l/_1zSSEVF1UCYO

D.D

Answer: C

° View Text Solution

3. (i) There is a group of five persons-A, B, C, D
and E.

(ii) One of them is a horticulturist, one is a
physicist, one is a journalist, one is an
industrialist and one is an advocate.

(iii) Three of them-A, C and advocate prefer tea


https://dl.doubtnut.com/l/_1zSSEVF1UCYO
https://dl.doubtnut.com/l/_QhEbvyAWExE8

to coffee and two of them-B and the
journalist prefer coffee to tea.

(iv) The industrialist and D and A are friends to
one another but two of these prefer coffee to
tea.

(v) The horticulturist is C's brother.

Which of the following groups includes a per

son who likes tea but is not an advocate?

A. ACE

B. DE

C.BCE


https://dl.doubtnut.com/l/_QhEbvyAWExE8

D. None of these

Answer: D

o View Text Solution

4. (i) There is a group of five persons-A, B, C, D
and E.

(ii) One of them is a horticulturist, one is a
physicist, one is a journalist, one is an
industrialist and one is an advocate.

(iii) Three of them-A, C and advocate prefer tea


https://dl.doubtnut.com/l/_QhEbvyAWExE8
https://dl.doubtnut.com/l/_XgbE1mG9LIYJ

to coffee and two of them-B and the
journalist prefer coffee to tea.

(iv) The industrialist and D and A are friends to
one another but two of these prefer coffee to
tea.

(v) The horticulturist is C's brother.

Who is a physicist?

A A

B.E

C.D

D.C


https://dl.doubtnut.com/l/_XgbE1mG9LIYJ

Answer: D

o View Text Solution

5. (i) There is a group of five persons-A, B, C, D
and E.

(ii) One of them is a horticulturist, one is a
physicist, one is a journalist, one is an
industrialist and one is an advocate.

(i) Three of them-A, C and advocate prefer tea
to coffee and two of them-B and the

journalist prefer coffee to tea.


https://dl.doubtnut.com/l/_XgbE1mG9LIYJ
https://dl.doubtnut.com/l/_GkZHjskZwAbN

(iv) The industrialist and D and A are friends to
one another but two of these prefer coffee to
tea.
(v) The horticulturist is C's brother.
Which of the above statements is superfluous?
A. (iii)
B. (iv)
C. (ii)

D. None

Answer: D
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https://dl.doubtnut.com/l/_GkZHjskZwAbN

6.(1) P, Q,R,S, T and U are travelling in a bus.
(i) There are two reporters, two technicians,
one photographer and one writer in the
group.

(i) The photographer P is married to S who is
a reporter.

(iv) The writer is married to Q who is of the
same profession as that of U.

(v) There are two married couples and nobody

in the group has same profession.


https://dl.doubtnut.com/l/_GkZHjskZwAbN
https://dl.doubtnut.com/l/_Y3bop73tuKbv

(vi) U is brother of R.

Which of the following is a pair of technicians?

A.RS

B.SU

C.PT

D. QU

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_Y3bop73tuKbv

7.(i) P,Q,R,S, Tand U are travelling in a bus.
(i) There are two reporters, two technicians,
one photographer and one writer in the
group.

(iii) The photographer P is married to S who is
a reporter.

(iv) The writer is married to Q who is of the
same profession as that of U.

(v) There are two married couples and nobody
in the group has same profession.

(vi) U is brother of R.

Which of the following is a pair of reporters?


https://dl.doubtnut.com/l/_Mz4T4iLkzk3n

A. PQ

B.RT

C.ST

D.SU

Answer: C

o View Text Solution

8.(i) P,Q,R,S, Tand U are travelling in a bus.
(i) There are two reporters, two technicians,

one photographer and one writer in the


https://dl.doubtnut.com/l/_Mz4T4iLkzk3n
https://dl.doubtnut.com/l/_L37q4EJXcK7y

group.

(i) The photographer P is married to S who is
a reporter.

(iv) The writer is married to Q who is of the
same profession as that of U.

(v) There are two married couples and nobody
in the group has same profession.

(vi) U is brother of R.

How is R related to U?

A. Brother

B. sister

C. Uncle


https://dl.doubtnut.com/l/_L37q4EJXcK7y

D. cannot be determined

Answer: D

° View Text Solution

9.(i) P, Q,R,S, Tand U are travelling in a bus.
(i) There are two reporters, two technicians,
one photographer and one writer in the
group.

(iii) The photographer P is married to S who is

a reporter.


https://dl.doubtnut.com/l/_L37q4EJXcK7y
https://dl.doubtnut.com/l/_VwUrpyihWfIl

(iv) The writer is married to Q who is of the
same profession as that of U.
(v) There are two married couples and nobody
in the group has same profession.
(vi) U is brother of R.
Which of the following pair is a couple?

A. PQ

B.QOR

C. QS

D. PT

Answer: B


https://dl.doubtnut.com/l/_VwUrpyihWfIl

o View Text Solution

10.(i) P, Q,R,S, T and U are travelling in a bus.
(i) There are two reporters, two technicians,
one photographer and one writer in the
group.

(i) The photographer P is married to S who is
a reporter.

(iv) The writer is married to Q who is of the
same profession as that of U.

(v) There are two married couples and nobody

in the group has same profession.


https://dl.doubtnut.com/l/_VwUrpyihWfIl
https://dl.doubtnut.com/l/_ju015727Pm8k

(vi) U is brother of R.

Which of the following is a pair of husbands?

A.PQ

B. PR

C. QS

D. Can't be determined

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_ju015727Pm8k

11. (i) Six friends P, Q, R, S, T and U are members
of the club and play a different game of
Football, Cricket, Tennis, Basket ball,
Badminton and Volley ball.

(i) T who is taller than P and S plays Tennis.
(iii) The tallest among them plays Basket ball.
(iv) The shortest among them plays Volley ball.
(v) Q and S neither play Volley ball nor Basket
ball.

(vi) R plays Volley ball.

(vii) T is between Q who plays Foot ball and P

in order of height


https://dl.doubtnut.com/l/_dBIJ0LPC8hxu

Who among them is taller than R but shorter

than P? (

A.Q

B.T

C.U

D. None of these

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_dBIJ0LPC8hxu

12. (i) Six friends P, Q, R, S, T and U are
members of the club and play a different game
of Football, Cricket, Tennis, Basket ball,
Badminton and Volley ball.

(i) T who is taller than P and S plays Tennis.
(iii) The tallest among them plays Basket ball.
(iv) The shortest among them plays Volley ball.
(v) Q and S neither play Volley ball nor Basket
ball.

(vi) R plays Volley ball.

(vii) T is between Q who plays Foot ball and P

in order of height


https://dl.doubtnut.com/l/_l5xWsBzwyDUt

Who will be at the third place if they are
arranged in the descending order of their

height?

A.Q

B.P

C.S

D. T

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_l5xWsBzwyDUt
https://dl.doubtnut.com/l/_oTmhPapL62AM

13. (i) Six friends P, Q, R, S, T and U are
members of the club and play a different game
of Football, Cricket, Tennis, Basket ball,
Badminton and Volley ball.

(i) T who is taller than P and S plays Tennis.
(iii) The tallest among them plays Basket ball.
(iv) The shortest among them plays Volley ball.
(v) Q and S neither play Volley ball nor Basket
ball.

(vi) R plays Volley ball.

(vii) T is between Q who plays Foot ball and P


https://dl.doubtnut.com/l/_oTmhPapL62AM

in order of height

Which of the following statements is not true?

A. P is shorter than R

B. Q is taller than S

C.Sis taller than R

D.Tis taller than R

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_oTmhPapL62AM

14. (i) Six friends P, Q, R, S, T and U are
members of the club and play a different game
of Football, Cricket, Tennis, Basket ball,
Badminton and Volley ball.

(i) T who is taller than P and S plays Tennis.
(iii) The tallest among them plays Basket ball.
(iv) The shortest among them plays Volley ball.
(v) Q and S neither play Volley ball nor Basket
ball.

(vi) R plays Volley ball.

(vii) T is between Q who plays Foot ball and P


https://dl.doubtnut.com/l/_VrDBYC4nQ9iO

in order of height

Who among them plays Basket ball?

A.Q

B.R

C.S

D.U

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_VrDBYC4nQ9iO

15. (i) Six friends P, Q, R, S, T and U are
members of the club and play a different game
of Football, Cricket, Tennis, Basket ball,
Badminton and Volley ball.

(i) T who is taller than P and S plays Tennis.
(iii) The tallest among them plays Basket ball.
(iv) The shortest among them plays Volley ball.
(v) Q and S neither play Volley ball nor Basket
ball.

(vi) R plays Volley ball.

(vii) T is between Q who plays Foot ball and P


https://dl.doubtnut.com/l/_ho1JSaflHATd

in order of height

What does S play?

A. Cricket

B. Badminton

C. Foot ball

D. Either Cricket or Badminton

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_ho1JSaflHATd

16. Six friends went on a vacation to a hill
station. They are to be accommodated in a
row of nine cottages, each to a cottage.
Mohan, Tanya and Roma do not want to live in
a cottage at the end of a row. Babu and
Mohan must not have anybody adjacent to
their cottages. There is only an empty cottage
between Mohan and Roma. Chander is
adjacent to both Jayanthi and Roma Tanya is
next to the cottage at the beginning.

Who has empty cottages in both sides?


https://dl.doubtnut.com/l/_53wfEub9cPVc

A. Roma

B. Babu

C. Mohan

D. Tanya

Answer: C

o View Text Solution

17. Six friends went on a vacation to a hill
station. They are to be accommodated in a

row of nine cottages, each to a cottage.


https://dl.doubtnut.com/l/_53wfEub9cPVc
https://dl.doubtnut.com/l/_HdGjmuOkCVDn

Mohan, Tanya and Roma do not want to live in
a cottage at the end of a row. Babu and
Mohan must not have anybody adjacent to
their cottages. There is only an empty cottage
between Mohan and Roma. Chander is
adjacent to both Jayanthi and Roma Tanya is
next to the cottage at the beginning.

Who is in the third cottage?

A. Jayanthi

B. Chander

C. Nobody


https://dl.doubtnut.com/l/_HdGjmuOkCVDn

D. Roma

Answer: A

o View Text Solution

18. Six friends went on a vacation to a hill
station. They are to be accommodated in a
row of nine cottages, each to a cottage.
Mohan, Tanya and Roma do not want to live in
a cottage at the end of a row. Babu and

Mohan must not have anybody adjacent to


https://dl.doubtnut.com/l/_HdGjmuOkCVDn
https://dl.doubtnut.com/l/_EoVOIHAFa7Kv

their cottages. There is only an empty cottage
between Mohan and Roma. Chander is
adjacent to both Jayanthi and Roma Tanya is
next to the cottage at the beginning.
Which cottages are empty?

A. 1,6,8

B.1,5,8

C.4,5,6

D.5,6,8

Answer: A
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https://dl.doubtnut.com/l/_EoVOIHAFa7Kv

19. Six friends went on a vacation to a hill
station. They are to be accommodated in a
row of nine cottages, each to a cottage.
Mohan, Tanya and Roma do not want to live in
a cottage at the end of a row. Babu and
Mohan must not have anybody adjacent to
their cottages. There is only an empty cottage
between Mohan and Roma. Chander is
adjacent to both Jayanthi and Roma Tanya is

next to the cottage at the beginning.


https://dl.doubtnut.com/l/_EoVOIHAFa7Kv
https://dl.doubtnut.com/l/_ayP9ehEn69aE

What is the maximum number of consecutive

cottages that are occupied?

A2

B.3

C.1

D. 4

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_ayP9ehEn69aE

20. Six friends are sitting around a circular
table at equal distance from each other. Sita is
sitting two places right of Gita who is exactly
opposite to Nita. Nita is on immediate left of
Lata, who is exactly opposite to Rita. Mita is
also sitting at the table.

Who is the only person sitting between Gita

and Sita?

A. Rita

B. Mita

C. Lata


https://dl.doubtnut.com/l/_5cY7UT8xylee

D. Nita

Answer: A

o View Text Solution

21. Six friends are sitting around a circular
table at equal distance from each other. Sita is
sitting two places right of Gita who is exactly
opposite to Nita. Nita is on immediate left of

Lata, who is exactly opposite to Rita. Mita is


https://dl.doubtnut.com/l/_5cY7UT8xylee
https://dl.doubtnut.com/l/_PH1sTV8d0sHz

also sitting at the table.

Sita is not sitting at equal distance from:

A. Rita and Nita

B. Lata and Gita

C. Mita and Lata

D. All of the above

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_PH1sTV8d0sHz

22. Six friends are sitting around a circular
table at equal distance from each other. Sita is
sitting two places right of Gita who is exactly
opposite to Nita. Nita is on immediate left of
Lata, who is exactly opposite to Rita. Mita is
also sitting at the table.

Gita is sitting to the

A. Left of Mita

B. Right of Rita

C. Left of Rita


https://dl.doubtnut.com/l/_EYi2dFKFaYw2

D. Right of Nita

Answer: C

o View Text Solution

23. Six friends are sitting around a circular
table at equal distance from each other. Sita is
sitting two places right of Gita who is exactly
opposite to Nita. Nita is on immediate left of
Lata, who is exactly opposite to Rita. Mita is

also sitting at the table.


https://dl.doubtnut.com/l/_EYi2dFKFaYw2
https://dl.doubtnut.com/l/_4t61AniEUa5i

The angle subtended by Mita and Nita at the

centre of the table is:

A.60°

B.120°

C.90°

D. 180°

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_4t61AniEUa5i

24. Six friends are sitting around a circular
table at equal distance from each other. Sita is
sitting two places right of Gita who is exactly
opposite to Nita. Nita is on immediate left of
Lata, who is exactly opposite to Rita. Mita is
also sitting at the table.

Which of the following statements is not

correct?

A. Mita and Sita are exactly opposite to

each other


https://dl.doubtnut.com/l/_m44cUo3jNobD

B. Rita and Mita are equal distance from

Gita

C.Angle subtended by Rita and Mita is

same as the angle subtended by Sita and

Lata at the centre of the table

D. Mita is on the immediate left of Lata.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_m44cUo3jNobD

25. Find the number of triangles in the

following figure.

A.9

B.10


https://dl.doubtnut.com/l/_7KPhPBbNvzYQ

C. N

D. 12

Answer: D

° View Text Solution

26. How many straight lines are contained in

the diagram given below ?


https://dl.doubtnut.com/l/_7KPhPBbNvzYQ
https://dl.doubtnut.com/l/_OZdug8bKsGFm

A.9

B.10

C.Nn

D. 12

Answer: A



https://dl.doubtnut.com/l/_OZdug8bKsGFm

° View Text Solution

27. How many triangles are contained in the

figure given below ?

A.8


https://dl.doubtnut.com/l/_OZdug8bKsGFm
https://dl.doubtnut.com/l/_eigMVmNnFNaB

B.10

C.12

D.14

Answer: C

o View Text Solution

28. How many squares are contained in the

following figure ?


https://dl.doubtnut.com/l/_eigMVmNnFNaB
https://dl.doubtnut.com/l/_FBaC266kAPmK

A.6

B.7

C.8

D.9

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_FBaC266kAPmK

29. How many parallelograms are there in the

figure given below ?

A 14
B.15

C.16


https://dl.doubtnut.com/l/_FBaC266kAPmK
https://dl.doubtnut.com/l/_wXSeHZvhCoZP

D. 18

Answer: D

o View Text Solution

30. Find the number of rectangles in the

following figure.

—



https://dl.doubtnut.com/l/_wXSeHZvhCoZP
https://dl.doubtnut.com/l/_1tzsHBHIxscE

A.6

B.7

C.8

D. 18

Answer: D

o View Text Solution

31. Find the number of straight lines in the

following figure.


https://dl.doubtnut.com/l/_1tzsHBHIxscE
https://dl.doubtnut.com/l/_IMEWTX6Z50LJ

A 11

B.14

C.16

D.15



https://dl.doubtnut.com/l/_IMEWTX6Z50LJ

Answer: C

o View Text Solution

32. How many triangles are contained in the

following lowing figure ?



https://dl.doubtnut.com/l/_IMEWTX6Z50LJ
https://dl.doubtnut.com/l/_rEpCAWKFGqXe

A 11

B. 12

C.16

D. 16

Answer: D

o View Text Solution

33. How many squares does the following

figures contain ?


https://dl.doubtnut.com/l/_rEpCAWKFGqXe
https://dl.doubtnut.com/l/_PSJj0Y5NijQm

A.18

B.19

C. 20

D. 27

Answer: D



https://dl.doubtnut.com/l/_PSJj0Y5NijQm

o View Text Solution

34.What is the number of straight lines in the

following figure

A.10

B. 11

C.12


https://dl.doubtnut.com/l/_PSJj0Y5NijQm
https://dl.doubtnut.com/l/_dO2O1vKu5BOV

D. 13

Answer: C

o View Text Solution

35. How many triangles are there in the figure

given below ?


https://dl.doubtnut.com/l/_dO2O1vKu5BOV
https://dl.doubtnut.com/l/_fKdOTJSDQrMr

A5

B.6

C.7

D.10

Answer: D



https://dl.doubtnut.com/l/_fKdOTJSDQrMr

l ° View Text Solution

36. How many rectangles does the following

figure have ?

A.10


https://dl.doubtnut.com/l/_fKdOTJSDQrMr
https://dl.doubtnut.com/l/_aCFaYdqCdrOJ

B. 12

C.13

D. 14

Answer: D

o View Text Solution

37. How many squares are there in the figure

given below ?


https://dl.doubtnut.com/l/_aCFaYdqCdrOJ
https://dl.doubtnut.com/l/_YJ2wvlPsjBiw

A 11

B. 12

C.13

D. 17


https://dl.doubtnut.com/l/_YJ2wvlPsjBiw

Answer: D

o View Text Solution

38. Count the number of triangles in the

following figure

/

A. 27


https://dl.doubtnut.com/l/_YJ2wvlPsjBiw
https://dl.doubtnut.com/l/_ak6Q75CPFmDR

B. 25

C.23

D. 21

Answer: A

o View Text Solution

39. How many triangles are there in the

following figure ?


https://dl.doubtnut.com/l/_ak6Q75CPFmDR
https://dl.doubtnut.com/l/_yVWxVXQ8qjsS

A 11

B. 12

C.13

D. 15

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_yVWxVXQ8qjsS

40. How many triangles are there in the

following figure ?

A.8

B.9

C.16


https://dl.doubtnut.com/l/_yVWxVXQ8qjsS
https://dl.doubtnut.com/l/_FZbwwJCTUjYD

D. 11

Answer: C

o View Text Solution

41. Count the number of rectangles in the

following figure.



https://dl.doubtnut.com/l/_FZbwwJCTUjYD
https://dl.doubtnut.com/l/_5IUm13Ms1Irq

A.8

B.17

C.18

D. 19

Answer: C

o View Text Solution

42. How many maximum squares are in the

following figure ?


https://dl.doubtnut.com/l/_5IUm13Ms1Irq
https://dl.doubtnut.com/l/_nQFGFmIK9DMk

A9

B.10

C.13

D. 14

Answer: D



https://dl.doubtnut.com/l/_nQFGFmIK9DMk

° View Text Solution

43. How mnay squares are there in the given

figure ?

A.6


https://dl.doubtnut.com/l/_nQFGFmIK9DMk
https://dl.doubtnut.com/l/_XbrccUFOz1y8

B.9

C.10

D. 15

Answer: C

o View Text Solution

44. Which is the minimum number of straight

lines that is needed to construct the following


https://dl.doubtnut.com/l/_XbrccUFOz1y8
https://dl.doubtnut.com/l/_fTNQb6USjjMn

figure

A 12

B.13

C.15

D. 18


https://dl.doubtnut.com/l/_fTNQb6USjjMn

Answer: B

o View Text Solution

1. Find the number of straight lines and the

number of triangles in the complex figure


https://dl.doubtnut.com/l/_fTNQb6USjjMn
https://dl.doubtnut.com/l/_QxdqZAaph9iD

given below .

° View Text Solution

2. Find the number of rectangles contained in

the figure given below :


https://dl.doubtnut.com/l/_QxdqZAaph9iD
https://dl.doubtnut.com/l/_ORgHlBJw5hcn

° View Text Solution

3. Find the number of squares in the figure

given below :


https://dl.doubtnut.com/l/_ORgHlBJw5hcn
https://dl.doubtnut.com/l/_bKRggeVu9xdn

° View Text Solution

4.Find the number of parallelogram contained

in the following figure.


https://dl.doubtnut.com/l/_bKRggeVu9xdn
https://dl.doubtnut.com/l/_3jp2AQ9zRgfz

° View Text Solution



https://dl.doubtnut.com/l/_3jp2AQ9zRgfz

